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pr i e m2
0.00 0.0
BHET Fyvbor—4 m
2.70%2 5.40 5.4




& T (ZFE) TR

No.2 (A1H5&E

T 7&
GW-L-L H=3.432m~H=3.124m 28 H1zY
FHER =1 0m
TRl
400
400
8 % - \=
g " \e g \%
S 3 \°
H=3. 432\ ° \
H=3.124
8 8
00 1580 0 10D 1487 100
1780 1687
m& Y m Y
a> o y—=k 3.252m3 aro)—+k 2 826m3
Moo U—k 0.440m3 Moo )—k 0. 3%n3
HlLarsoy—=r 0.178n3 HLarsy—=k 0._169m3
pidrcd 7.02 m2 i 2 6.39 m2
i 322 m
bi: Al G| Al B = =® FFEE|®XEE
GW-L-L m
EHER = 1.200 1.20
avyy-+ 18-8-40 m3
0.5 X (3.252+2.826) x 1.20 3.647 3.65
fg{taro)—k |18-8-40 m3
0.5 x (0.440+0.394) x 1.20 0.500 0.50
HLavy)—k |18-8-40 m3
0.5 % (0.178+0.169) x 1.20 0.208 0.21
BB m2
0.5 x (7.02+6.39) X 1.20 8.05 8.1
i B 4 m2
3.22 3.2
BET Fyvbor—4 m
1.20% 2 2.40 2.4




2-2. A2 BEHERE



3-8 &+ T

TR iR

CH y
[

G 7 E=]
N = S S S— — f
< e
640 860
1790 4D 580 2600 2600 1580 1 1730
L 2 3

WHY-HRYEL 5.5 m2( 4.8 md)
BRI (L85) 12.1 m2(10.5 m2)

BRIE (88) 1.2 m2( 1.0 m2)

() REEIZHA (0.8660) & DHHIEE

whY-tERYEL 4.8 m2
BRIE (£8) 9.3 m2
BRiE (35) 1.0 m2

WHY-tERYEEL 5.5 m2( 4.8 m2)
BRIE (£8) 9.7 m2( 8.4 m2)
BRAR (808) 1.2 m2( 1.0 m2)




HEL (/) 8.4 m2(7.3m2)
1.

HEL @)-h 8 m2( 1.6 m2)
HERL (E5) 7.4 m2
HEL@-H  1.5m2

HEL (L) 8.6 m2(7.4m)
HEREL@-H  1.9m2( 1.6 m2)

L2y 7 Y—REL (&)
V1

4.8X2.604+4.8X2.60+4. 8X0. 21

= (0. 70%0. 45-0. 30%0. 30) *5. 8 (BUEFT HURLKER)

V1

2. RIEY (LRD)
V2 = (4.8+10.5) X1/2X1.79+ (4. 8+10.5) X0. 72
1/2 X (10. 5+9. 3) X 2.60+1/2X (9. 3+8. 4) X 2. 60

(4.8+8.4) X0.72+ (4. 8+8.4) X1/2X1.73—4.8x0. 21

V2



3. KDY (WUE)

V3

1.0X1/2X0.14+1.0X0. 58
1/2X (1. 0+1. 0) X2.60+1/2X (1. 0+1.0) X2. 60

1.0X0.584+1.0X1/2X0. 14

m3

m3

m3

4. R L (1)

V4

11.
38.
11.

m3

m3

m3

m3

5. HEE L (a/70-h)

Vb

6. FEtasy

V6

60.

m3

m3

m3

m3

V3
7.3X1/2X (1. 79+0. 14) +7. 3X0. 58
1/2X (7.3+7.4) X2.60+1/2X (7. 4+7. 4) X2. 60
7.4X0.58+7.4X1/2X(0.14+1.73)

V2
1.6X1/2X (0. 64+0. 14) +1. 6 X0. 58
1/2X (1. 6+1.5) X2.60+1/2X (1. 5+1. 6) X2. 60
1.6X0.5841.6X1/2X (0. 14+0. 86)

Vb

PRAE (H0%) +IRHE (Ha5) —H#1L5/0. 9
93.4 + 6.6 - 60.9/0.9

11.

32.

m3

m3



3-9 LT
1. EEEfE (t=4cm)

2z 'ﬁéﬁnﬁwﬁ (=54m

EHIF &R

I |
Sy
2. HEIERRGIWT (PA770h. t=4cm) L= 5.4 m
3-10 HIHLT
1. &i%EEIH
BWEEBEX LY FE FEBRET A3 t=4cm = 18.7 m2
HAEE  17vv-77 RC-40 t=Tcm = 18.7 m2
2. BUGIT HUADKISE IR
BWEEBEX LY a7} (18-8-40)
L=5. 8m V=(0. 70%0. 45-0. 25%0. 30) *5. 8 = 1.4 m3
B (— W B
A=0. 45%4%5, 8 = 10.4 m2
e (RC-40, t=15cm)
A=0. 80%5. 8 = 4.6 m2

7 L—=F 7 (BRI



A2FEHE
3-1 HEtEitE

oo Bl Bl % HAL 3 =& W =
7 ) BB m3 93.4
fE /s, 1B m3 6.6
ES
+ | B R L + # m3 60. 9
* 2/9Y-} 18-8-40 ERIFW/CE0%EL | m3 11.4
o'y m3 32.3
(S IES t= 4em m2 18.7 | 0.748m3
iiz AR 0 TAT 7 t= 4em m 5.4
L b | o) A w3 | - AUGHTEL
T TR av/p)-h Y m3 27.3 | L T2M
oy U— k| SRS | 24-8-25 ERIFW/C55%2L | m3 7.3
HEfEEY | 18-8-40 EIFN/CO0%LA T m3 23.3
BjLavp)-h Y 18-8-40 t=10cm m3 1.4
L T e 1 w2 174
e Y m2 33.9
1y Uayy - m2 1.8
Ll w — R ) (SD345) D16 t | 0.321
D13 t 0. 050
& & t 0.371
TN —FEERE | PR ¢ 150 m 1.6
g BT Pt A 2 35 Hm2 51.2
L HUEER 25 FHm2 20. 9
2wk & 1.0 BATSH
T
EESLE eS| FERRIET Ay | t= 4cm m2 18.7
ATy v=T7
P RC-40 t= 7cm m2 18. 7
Tﬁ PeARMEEY) L | st ouimig | 2/ -h 18-8-40 m3 1.4
- AU — 5 A e m2 10. 4
SanEEA RC-40, t=15cm | m2 4.6
vt (EFH) m 5.8




3-3 =7 U— hAFE

1.

T2k

® 0 0

(24-8-25)

IEmEX
5196

577 _

2021

2021

577

@ |

64

|

266 563

b

J

3015

/v

336/ 563

BEEX

5196

577,

2021

577

269 574

339 573

1/4% (0. 563+0. 564+0, 574+0. 574) X 0. 400 X 0. 577
1/4% (0. 564+0. 599+0. 574+0. 608) X 0. 400 X 2, 021
1/4% (0. 599+0. 564+0, 608+0. 573) X 0. 400 X 2, 021

1/4% (0. 564+0. 563+0. 573+0. 573) X 0. 400 X 0. 577

V1

0. 47
0. 47

m3
m3
m3

m3

1.2

m3



Cgraled| BIE R
300220 1200 __ 780 300 5196
800 _40 b 2598 2598
24-8-25
o7z N I E
3 ( W\—\—
Lo oot
= _D g =~ 0] 2
| @ E 2N ol |le ]
§ o 1497 AR+ o § = 3 8 [=]
" LD S 2538 & R~ S 8
& g Nl Ee ®1s—8—4oJ $ &
2200 S
;I L : : IERD :
= ] 5 gf 5 aE
IvhU-+ ¥ LIvpU-+ # Lavsy-+ ED N
24-8-75 18-8-40 e 24-8-25
1200 _|400| 1200 2 5196 il
1P0 2800 100 2
5196
2598 . 2598
B | -
g ] @ g
= I _____’_59 __________
SRES N e o
-
N 48| @ =
g ® =g
|
3 5196 hil
1. Bty (24-8-25)
@D 1/4 % (0. 260+0. 330+0. 269+0, 339) X 1, 200 X 5. 196 = 1.87 m3
@ 1/2X (1.200+1. 427) X 0. 500X 5, 196 = 3.41 m3
vVl = 5.3 m3
2. HEMHIEY (18-8-40)
@ V2= 1/2X(1.427+2.200) X 1. 700X5, 196 = 16.0 m3
3. 7—F v/ (&Y 18-8-40)
@ V3= 2.800X0.500X5, 196 = 7.3 m3



4. Sk (BREHMEEY 24-8-25)

® V4= 0.400Xx0.400x5. 196 = 0.8 m3

5. ML= V—k (EGHHEED)
V5= 3.000X0.100x5.311—0. 400X 0. 100X 5. 426 = 1.4 m3

6. =27 U — MEFREE!

SRR | AR | B Ly
& B (m3) | % m3) | 1=} (m3) P

24-8-25 | 18-8-40 | 18-8-40

AVASDA 1.2 — —
EX BE 5.3 16.0 —
T—F7 — 7.3 —
% & 0.8 — —
B Lav-} — — 1.4

& &t 7.3 23.3 1.4




3-4 HPrHFE

1

OISIOIOIOICIOIONIOISY

1/2 > (0.
1/2 > (0.
1/2 > (0.
1/2 > (0.
1/2 > (0.
1/2 > (0.
1/2 > (0.
1/2 > (0.
1/2 > (0.
1/2 > (0.

563+0
564+0
599+0
564+0
574+0
574+0
608+0
573+0
563+0

563+0

.564) X 0. 577
.599) X 2. 021
.564) X 2. 021
.563) X 0.577
.574) X0.577
. 608) X 2. 021
.573) X 2.021
.573) X0.577
.574) X 0. 462
.573) X 0. 462

Al

RTy b (SR EY)
IEmE X
5196
o717, 2021 2021 971
| o;\ g]\‘ | -
g o2 J@ 3 ® 5 @0 8
7 | |8 o ‘ | -
= 4 CQ\ &
BHEE
5196
5717 _ 2021 2021 o7l
| o\*\ 2]\ | -
o o @5 | ® 4 189 08
§ | |\|_rst %

.33
.18
.18
.33
.33
.19
.19
.33
.26
.26

m2
m2
m2
m2
m2
m2
m2
m2
m2

m2

m2



2. HXBE
M HIEE
34 54 1386 901 346 5186
2598 2598
9+
W\
e \‘___—_i; _____________ |
= e 3 z ) 0] D g
Pl S, g2 O @ o)
18{3-40 [~ T T T T :
S S g |- | 82 o o
- S g8 g2 @ e @ meEnm-+ O § g
= | 18-8-40 I
__________ : 1 |
= | 5 ' °
#9191 _— Y-
ligSe 13366 |462|  1396.5 % %
11E 3233 k- [ 5186 1|
|
34 54 1386 901 346 5196
924 _ 462 2598 . 2598
B Y + __________ |
__© _| g € RG] @ =
9 Bed e O
o 1048 g = 2 8 i 28 i =
g = © N8 9% o | 9 |o o §3
2540 = : : :
__________ - | - |
% e I D'l‘% i I =
: T o - — ak:
24-8-75 |
1385.5 467 1385.5
1D 3233 il o 1 5196 1t
1) SRRt S
(7) 1/2% (0. 260+0. 330) X 5. 196 - .53 m2
() 1/2% (0. 269+0. 339) X 5. 196 = .58 m2
(%) 1/2x (0. 260+0. 269) X 1. 386 = 0.37 m2
(=) 1/2x (0. 330+0. 339) X 1. 386 = 0.46 m2
(4) 0.502x5. 196 = 2.61 m2
() 0.5305. 196 = 2.75 m2
(%) 1/2x (1. 386+1. 648) X 0. 500 = 0.76 m2
() 1/2x (1. 386+1. 648) X 0. 500 = 0.76 m2
A2 = 0.8 m2



2) i )

(%) 1.708x5. 196

(=) 1.804%5. 196

() 1/2% (1. 648+2. 540) X 1. 700
(3) 1/2 (1. 648+2. 540) X 1. 700

3. 7—F 7 (MG 18-8-40)
A= (5.196+3.233) X 0. 500X 2

4. HLar 7 ) — M (EHEEY)

A5= (5. 426+3.463) X0.100X 2

5. RFemAASER

8.9
9.4
3.6
3.6

m2
m2
m2

m2

A3

— A (m2) B Lays N
S (m2) | #E4H (m2) | T
IXNT Ry R 6.6 — —
EX Bt 10. 8 25.5 —
J—F T — 8.4 —
By ayp)—-h — — 1.8
& &t 17. 4 33.9 1.8

2b.b

8.4

1.8

m2

m2

m2



3-5 PkfEHE (SD345)

7% B i (kg) i
D16 321.0
D13 49,7
it 370. 7
3-6 T ——5kE (¢ 150)
BEEILRIL, Tob-N -FEiR 4R S=1:25 ErmR S=1:25
@ 314
: L S/
g j Ty ey e — HEEL SN
14 | Y
Avh—r—fEtRE L \ BEELSL
1 866 Gy 3x1154. 7=3464 866
+ = + -
L= 0. 400 X4 = 1.6 m
3-7 BLL
6351
RS BEER S HEER S
] ,
|
/i/
\ | ’
T S
600_{ 500, 2200 500 |_600
215
7044
Pkl 2 85 A= (7.04+4.73X2) X3.10 = 51.2 Hfm2

A RS A= 6.35X3.29

= 20.9 Hm2



GW-L-L b(R)

REeETHEBEHESE

VA k)

U

av))—h
m3

BLavy)-p
m3

)

m2

m

B T Gy by=7)

m

fii

(T i)

a7 Y—k

6. 95

fta 7 U — 1

0.95

BLarr)—h

0.39

T

15. 2

S

3.5

YT

4.4

(b3

a7 Y—k

5.33

it 7 ) — 1

0.73

BLarr)—h

0.30

T

B 4 A

3.3

YT

3.4

op
uh

13. 96

0.69

33.6

7.8




BE& I (GERA) TRA No.1 (A2B&
I i
GW-L-L H=3.305m~H=3.430m 28 H1zY
FHRER  L=2.20m
Tl
400
400
w \3 gl © \8
8 S \
W3 305 H=3.430
8
5 1 8
100 1542 100 100 1579 1
1742 1779
m U mL
aro1)—+k 3 073m3 ao)—k 3.249m3
Moo )—k 0. 4213 oz oy—+r 0.440m3
#HLarsy—=k 0_174m3 #HLars)—+r 0.178m3
fidl 2] 6. 75 m2 il 2 7.02 m2
b it g 3 49 2
iz Al B Al B f3f = =® & | % GHE
GW-L-L m
EHER = 2.200 2.20
avy)—-+ 18-8-40 m3
0.5 x (3.073+3.249) x 2.20 6.954 6.95
fg{ta>o1)—k |18-8-40 m3
0.5 x (0.421+0.440) x 2.20 0.947 0.95
gLar sy —k [18-8-40 m3
0.5 (0.174+0.178) x 2.20 0.387 0.39
BB m2
0.5 x (6.75+7.02) X 2.20 15.15 15.2
i B # m2
3.49 35
BT Fyybor—5 m2
2.20% 2 4.40 44




WE T (ARAD ERA

No.2 (A21B&

I i
GW-L-L H=3.50m~H=3.195m 28 H1zY
FER L=1. T0m
00 il
400
g ; \=z
g " I\ g \%
& g " v
H=3. 500 “ \
H=3. 195
8 8
0D 1600 o 00 1509 0f
1800 1709
my mL
avo)—+k 3.35m3 a>H)—k 2923
oo )—k 0.450m3 oo —k 0.404n3
#HLarv—=r 0.180m3 #HLarsy—=~r 0.171n8
fidl ] 7.15 m2 R 6.53 2
i g 3.33 2
iz Al B Al By = =® & | % GHE
GW-L-L m
EHEE = 1.700 1.70
vyt 18-8-40 m3
0.5 % (3.350+2.922) x 1.70 5.331 5.33
fg{ta>o1)—k |18-8-40 m3
0.5 x (0.450+0.404) x 1.70 0.726 0.73
gLar sy —k [18-8-40 m3
0.5 x (0.180+0.171) x 1.70 0.298 0.30
BB m2
0.5 (7.15+6.53) x 1.70 11.63 11.6
i B # m2
3.33 3.3
Bi5T Xyybor—o m
1.70% 2 3.40 3.4




§ 3. (R LHEEHE



& T # & i "

T F & Rl R & L 1.0x% Y
{RER TR 2 B

4 i B B . HAL &
RER %+ A=15.5m2, ¥+ THEE L=14.0m V=15.5%14.0 m° [217.0
B %450 0. 85%1. 414%23. 82 m? | 57.2
{RER B L5y m® [217.0
RERPEKE ¥ Urggggé v [29. 0%2 m | 58.0
KA D 5 ¢ 1100 11+12 %] 23.0
+o 9 I~ 4. 6%0. 5 m> 2.3
E el t=10cm 3. 0%23. 8 m? | 71.4




k&L #H & 3 =
T F & Rl KEZ L 1.0x% Y
K 2 TARHLX 2 R

4 PR & -V B HE
(FHEL)

V) -} 24-8-25 0. 16%(5. 081+5. 196) m*| 1.6

18-8-40 3. 88%5. 081+3. 375, 196 m® | 37.2

L 5 R g.135+1.005)*5. 081+3. 88%2+ (1. 061+1. 005)*5, 196+3. 37 w2 | 361

¥jLavy)-h 18-8-40  [HfE& LY m°| 3.0
(&)

2/ )—=h 18-8-40 2. 08% (2. 70+1. 20+2. 20+1. 70) m® | 16.2

U J HEFHAE S | (0. 905+0. 941) * (2. 70+1. 20+2. 20+1. 70) +2. 08%2 m>| 18.6

¥ Lavy)-h 18-8-40  [HfE& LY m’| 7.4

2/7)-b FH m® | 65.4

B G m* | 54.7




ik L # & # =
T f& = Bl KEEZ T .04
Kz TARHLX 2 PR

4 PR O =1 = BN BE
(+T)

R YE HWE + wBIER LY m° |180.3

#os 1B BIER LY m’| 13.6

piy= +-H MEEFR LD m? | 117.2

18-8-40 wIER LY m® | 22.0






